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PSYCHOLOGY
PAPER - II
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Note : This paper contains FIFTY (50) multiple-choice/assertion and reasoning matching

questions, each question carrying TWO (2) marks. Attempt All the questions.
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The concept of “Divergent Thinking”

was first put forward by :

(A) Goldstein

(B) Sullivan

(C) Guilford

(D) Vigotsky

The average twelve-year old child

has a mental age equal to :

(A) 100

(B) 120

(C) 10

(D) 12

Differential

measure :

(A) Individual differences

(B) All cognitive abilities

(C) A creativity

(D) Six specific aptitudes .

Which of the following is true about

incentive approach to motivation ?

I : Incentives have rewarding
properties independent of any
need or arousal

Il : Incentives satisfy the arousal of
an individual

(A) Only II is true

(B) Only I is true

(C) Both I and II are true

(D) Both I and II are false

Aptitude  Test
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10.

You and your friend play three

hours football. Afterwards you are

most likely to prefer :

(A) Plain water

(B) A slightly salty water

(C) Water containing alcohol

(D) Milk

A child learns 2 + 2 = 4, which

category of memory it represents ?

(A) Semantic memory

(B) Episodic memory

(C) Iconic memory

(D) Echoic memory

Horizontal and vertical illusion is

known as :

(A) Tllusion of extent

(B) IMlusion of shape

(C) Illusion of diversion

(1)) Tllusion of continuity

Which of the following is pictorial

cue in depth perception ?

(A) Texture gradient

(B) Binocular disparity

(C) Motion parallax

(D) Convergence

Probability sampling technique

means :

(A) Unsystematic selection

(B) Expert's selection

(C) Biased selection

(D) Random selection by certain
techniques

In exploratory research :

(A) The search is directed towards
identifying crucial variables

(B) Review of related literature is
an example of exploratory
research

(C) Full control is exercized in the
process of searching for
relevant variables

(D) The search is directed towards
giving desirable structure to
the problem
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11.

12.

13.

14.

15.

16.

‘Style of life’ is a core concept
in :

(A) Psycho-analysis

(B) Gestalt School

(C) Behaviourism School

(D) Individual Psychology

Two incompetent motives may lead
to :

(A) Neurosis

(B) Psychosis

(C) Anxiety

(D) Conflict

Which one of the following measure
is least used in test ?

(A) Mean

(B) Standard Deviation

(C) Mode

(D) Median

Which one of the following
hormones is directly responsible for
the metabolism of the body 7

(A) Thyroxine

{B) Insulin

(C) Adrenalin

(D) Non-adrenalin

Different wavelengths produce the
experience of different :

({A) Colours

(B) Brightness

(C) Hues

(D) Lights

The fastest neurons can send
impulses at about ........... miles per
hour.

(A) 200

(B) 425

(C) 150

(D) 100

Pyl

11.

12.

13.

14.

15.

16.

‘oA el WL ST ACTRETICRE R
(A) H-Ala=awe

(B) dl22le2 dle

(C) ad-ael v

(D) Aldoid -ifAsun

o) wzotd W2el L. dxs eldl 2
.

(A) ¥eu-ilagld

(B) dlav-ifagla

(C) Biat

(D) ded

AAumidll sy s s vl
Higd au & 7

(A) Hs

(B) wH [Qaa-

(C) blgds

(D) HEMzY

a1zl vzl uFuml il sui
uwlld FaselR 8§ 7

(A) aalsyld

(B) &=l

(C) #Agile

(D) Alr-wi5lEn

ogei-ogel Wianlinl [l %el-2el »g™id
el 3 & :

(A) 3l

(B) darzdldl

(C) il

(D) W&

Alefl psUl Adisis B2 sAlE @AM
.......... wSeiell 25U At Ut Hisel

(A) 200
(B) 425
(C) 150
(D) 100

[P.T.0.]




17.

18.

19.

20.

21.

The concept of ratio of MA to CA

is given by :

(A) Binet-Simon

(B) Weschler

(C) Stern

(D) Haptic

Questionnaire cannot be

administered to respondent who

are :

(A) From rural area

(B) Illiterate respondent

(C) Old persons

(D) Working IT computer

According to Heidbreder the

‘number’ and ‘form’ concepts are

more difficult to form than the

concept of :

(A) Concrete objects

(B) Images

(C) Words

(D) Numbers

Which of the following are the parts

of the theory given by Guilford ?

(A) Content, context, products

(B) Context, G-factor, S-factor

(C) Content, products, operations

(D) Operations, divergent processes,
experimental components

Distributed practice is better than

massed practice because :

(A) the learner is more comfortable
with it

(B) massed practice leads to more
fatigue and poor concentration

(C) during distribution of practice
the subject has an advantage
for differential learning and
forgetting

(D) during distribution of practice
subject can maintain the whole
view of the material
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22. The term ‘latent learning’ refers

to :
(A) hidden learning
(B) time bound learning
(C) learning which can be made
available whenever needed
(D) learning without any specific
intention
23. Which of the following is the concept
sequence for the motivational
process 7
(A) Reinforcement—need—response
(B) Need—drive—response
(C) Drive—response—need
(D) Response—drive—need
24, Which of the following has the
shortest memory span ?
(A) Working memory
(B) Episodic memory
(C) Sensory memory
(D) Secondary memory
25. An illusion :
(A) is the same thing as a
hallucination
(B) exists only in the brain cells of
the viewer
(C) is a distorted perception of an
actual stimulus
(D) corresponds directly to reality
of the stimulus
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26. Which type of sampling is used for
ANOVA technique ?
(A) Quota sample
(B) Purposive sample
(C) Stratified random sample
(D) Non-paramatic sample

27. ‘Problem solving’ and ‘creative
thinking’ are two main forms of :
(A) Autistic thinking
(B) Directed thinking
(C) Realiastic thinking
(D) Image

28. One school of psychology attempted
to show that thinking without the
sensory images is possible, what is
the name of this school ?
(A) Psycho-analysis school
(B) Behaviourism school
(C) Gestalt school
(D) Functionalism

29. Who gave the concept of E.Q.
(Emotional Quotient) ?
(A) Goleman
(B) Mayer
(C) Wood
(D) Baron

Psy 11
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30. Which of the following figures 30, <{ld-uuidl 56 sl yaaidl 2wl
represents correct cue for primacy
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31. Motivation is the process of g7

32.

initiating, ... . and directing
activities of the organism.

(A) Supplying

(B) Sustaining

(C) Surveying

(D) Suspending

Arrange the following factors of 39

information processing model in
sequence ;

(1) Short term memory

(2) Sensory memory

(3) Retrieval buffer

(4) Long term memory

(A) (1)-(2)-(4)(3)

(B) (3)-(1)-(2)-(4)

(C) (2)-(1)(3)-(4)

(D) (4)-(1)-(2)-(3)

Ramesh comes out of the class after 33.

the examination paper was over and
handed to invigilator, he remembers
the answer to a question which he
tailed to attempt. This is an example
of :

(A) Decoding

(B) Storage

(C) Retrieval

(D) Retention
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35.

36.

34.

Texture gradient is an important
clue in :

(A) Colour perception

(B) Perception of movement

(C) Perception of size

(D) Depth perception

Who has developed a will-therapy
that had no relationship with the
theory of Psycho-analysis ?

(A) Sigmund Freud

(B) Otto Rank

(C) Adler

(D) Jung

Match the items of List I with
List II :

List 1

(1) Anastasi

(i)

(2) Strong Campbell (ii)

(3) Eysenck
(4) Thurstone
(1)
(iv)
()
(fv)

(i)

(A)
(B)
(C)
(D)

(igi)

(i)

(2)
(iii)
(it)
(ii)

(iv)

(iii)

List Il
Attitude scale
Personality
inventory
Interest test
Psychological
testing
(3) (4)
(@ @
(iv)
(ii)
(i)

(@)
(i)
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37. The auditory area is located in :

38.

39.

40.

(A) Occipital lobe

(B) Frontal lobe

(C) Temporal lobe

(D) Parietal

The last stage of creative thinking
I8 :

(A) Evaluation

(B) Verification

(C) Preparation

(D) Incubation

When a person of limited
intelligence shows exceptional
abilities in art, music mental
arithmetie, or calendar calculations
it is called :

(A} Genius

(B) Giftedness

(C) Discaleulia

(D) Savant syndrome
Punishment training is also known
BB i training,

(A) Positive avoidance

(B) Punishment

(C) Discriminated

(D) Discriminated punishment
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41. Match List T with List II : A1, wdl T 208 wél 10 st :

List 1 List II el 1 yiel 11

(1) Skinner (i) Drive reduction (1) 5% () Nzl wast

(2) Hull and (ii) Frustration (2) e A A () el win wRAEUAL
Spence Response theory Raicd

(3) Watson and (iii) Schedule of (3) cledd A (i) Meler-l wA[B1s
Raynor reinforcement ERIE

(4) Amsell and (iv) Classical (4) HMAd v (o) weslld
Russell conditioning e [ AL
(A) (1)), (2)-(2), (3)-{iv), (4)-(iz) (A) (1)-(iii), (2)-(2), (3)-(iv), (4)-(eL)
(B) (1)-(2), (2)-(i5), (3)-(iit), (4)~(iv) (B) (1)-(i), (2)-(id), (3)-(iii), (4)-(iv)
(C) (1)-(iD), (2)-(iiD), (3)-(2), (4)-(iv) (C) (1)), (2)-(iEd), (3)-(2), (4)-(v)
(D) (1)-(iid), (2)-(i1), (3)-(iv), (4)-(2) (D) (1)-idi), (2)-(ii), (3)-(v), (4)-(G)

42. The employees at a factory were  42. 53wt sifau 2l du- sl Foyel
excellent at their work and the Sl 2n Bewter el wznRAwsl ed
production was at top. Suddenly a Bisiois Al wisal Faws 3 wulls s
rumor spread that due to economic 5128 wieudl wz Baudl Gewent ss
cut would force the plant to close ot s2aill §2% WS, Gewler-dl el
i gomaing four days. The quguy 247 Al apretett Aol Gl o 92U s
and quantity of production goes wdl sl A s
down. Before rumor these workers .
were motivated by : Gﬂl[&? sl
() Mstainieeds (A) ‘Her w3(Rud
(B) Intrinsic motivation (B) wtialts A28
(C) Self esteem (C) 2 »ulavsi2
(D) Safety and security (D) e 21 Yra

43. Which type of LTM is seldom, if  43. mentSny  wiollaini s usirdl

ever, lost by people with Alzheimer’s
disease 7

(A) Procedural

(B) Semantic

(C) Episodic

(D) Echoic

Psyl
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44.

(1)

(2)

(3)

(4)

46,

Perception of figure ground
phenomenon is not possible if the
following is absent :

(A) Colour

(B) Brightness

(C) Extension

(D) Contour

Match the items of List I with

List II :

List I List II
Experimental (i) Talks between
method two persons
Survey (it) List of questions
method
Questionnaire (iii) Opinion about
method Lux soap
Interview (iv) Variation
method

(1) (2 (3) (4)

(A)  GE) Gv) @) G
(B) @) @) G @)

(C) (i) (i) @ ()
M G @ G )

According to Psycho-analytic theory
the unconscious mind is a store-
house of :

(A) Super Ego

(B) Id and Ego

(C) Id

(D) Ego

PsyII
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47. Original Minnesota Multiphasic
Personality Inventory (MMPI)
consisted of :

(A) 550 items

(B) 450 items

(C) 350 items

(D) 250 items

Reliability of test means :

(A)

48,
Consistency between the test
scores

(B)
(C)

Any one time consistency
Consistency between both
scores of the same test

(D)
The Standford-Binet type tests of

Any one place consistency
49,
intelligence are called :

(A) Group tests

(B) Culture free tests

(C) Culture fair tests

(D) Individual tests

The autonomic functions are
primarily contributed by :

(A) Hypothalamus

(B) Thalamus

(C) Cerebellum

(D) Midbrain

PsyI
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